D1vISION WITH A REMAINDER II (H - SET 3)

PIVISTON WITH -10 TO 10 1;?;1: Score: y—
si) 4407 -1 = 5200 379 =+ 2 =
512) 22913 + (=3) = 527) 6598 + 5 =
513) 12488 =+ (—8) = s28) —10132 =7 =
) —18581 + 4 = 2 —26422 + (=3) =
515) —23443 + 4 = 5300 9613 =4 =
516) —18421 -3 = 531) —34564 + 7 =
s —=2275 + (—1) = 532) 20872 + (—=3) =

518) —46473 + (—10) =
519 85425 + (—10) =
5200 9029 + 1 =

21 —4107 + (=9) =
22 —20177 =5 =

523 54993 -9 =

20 13377 + 2 =

) —5134 + 2 =

Mathematics: Division - Level 8 - Horizontal - Set 3
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533)

534)

535)

536)

537)

538)

539)

540)

54241 = (—10) =

22061 + (—3) =
41238 + 6 =
—93583 =+ 5 =
—37425 + (—4)
16799 + 5 =
—35353 = (—8)

—4649 =8 =
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